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1. Simplify the expression38 x38 x38

) 323 i) 325 (i) 524 (v) 324 (v) 1

2. The logarithmic notation of103 =1000is

(i) /091010002=3 (ii) /og101000=3 (iii) /og10999=3 (iv) /098998=3 (v) /0g101003=3

3. log45 —log62 =

2
() log > (i) log> (i) log ot (i) /o (45) V) fog 22
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g62 g4 962 J 62 g62
log x log 36
4. Solve- = 1
log 2 /ogg
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5. logl—logl=

() logl (ii) log3™3 (iii) log23 (iv) log(-1)~3
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(i) /og(-3) (ii) /log1l (iii) /og-3 (iv) /og(-3)

7. 5.2 =

(i) 52 (ii) 1—3 (iii) 33 (iv) 520 (v) ]ﬁ
25 5 250

(o]

. Theexponentin the term97 is

(i) 5 (i) 7 (i) -9 (iv) -7 (v) 9

©

/og1296 7776 =

(i) 2.25 (ii) 0.25 (iii) 1.25 (iv) 3.25 (v) 9.25
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11.

12.

13.

14.

15.

16.

17.

18.

19.

The base of/og__‘3943 is

(i) 3 (ii) 6 (iii) 943 (iv) 2 (v) 1

If (x3+)3) =23, then which of the following is true?

(i) log (z—y) + log (2+zy+y2)=3 (i) log (z—y) — log (Z+zy+y2)=3 (i) log (z—y) + log (2+zy+)%)=5

log (z—y)
(iv) log (z—y) + log (Z+zy+)y%)=6 (V) =4
X X log (2 +zy+y?)

8.8 =

(i) 4 (i) 1 (iii) 88 (iv) 22 (v) 880
o ) o il V) oo v

43
log 437" =
4312

(i) 3.5833 (ii) 1.5833 (iii) 4.5833 (iv) 5.5833 (v) 2.5833
Find the LCM of {9,10}

(i) 92 (ii) 89 (iii) 91 (iv) 87 (v) 90

The base of/og2 533 is
4

2 2
M () 533 (iii) S w1

/og4 36=
7

(i) log,1 (i) 6/og,3 (i) 5/og,3 (iv) 6log, 6 (v) 7log, 3
7 7 7 7 7

If (x4+y4) = , then which of the following is true?

(i) log (Z2—=y2) + log (Z+y2) =4 (i) log (2—y2) + log (Z+y2) =T liii) log (Z—=)?) + log (Z+)?)=6

log (22—
(iv) - =5 (v) log (Z2=)2) — log (Z+)2)=4
log (Z2+y2) x X

The recurring part of the decimal21.7 is

(i) 772 (i) 21.7 (ii) 777 (iv) 7 (v) 77

/09240149 =

(i) 2.5 (i) 7.5 (iii) 1.5 (iv) 8.5 (v) 0.5



21.

22.

23.

24.

25.

The base of/ogm 0074.0000is

(i) 13 (i) 9 (iii) 10 (iv) 74 (v) 7

/ 25 _
%90 12

(i) 3/og5—-2/log2—1log3 (ii) log5—-2log2—Ilog3 (iii) 2/log5—-2/og2—/log3 (iv) 2/log5—-2log2—Ilog5

(v) 2/log5—-2log-1—/og3

37 .
Express /og y/ p3g3 in terms of log p and log q

log p
(i) logp+ logq (ii) 3logp+ 3logqg (iii) 3logqg— 3logp (iv) 3logp— 3logqg (v)
log q

log 1 +/oglO7=

() log8L7 (i) log101® (i) tog1317 (iv) l0g1017 (v) log1018

/log 100 — /og 25 =

(i) log6 (ii) /og42 (iii) /og3 (iv) log2 (v) log4
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7) (iii) 8) (ii) 9) (iii) 10) (i) 11) (i) 12) (i)
13) (i) 14) (v) 15) (iii) 16) (ii) 17) (i) 18) (iv)
19) (v) 20) (iii) 21) (iii) 22) (iii) 23) (i) 24) (iv)
25) (v)

Copyright © Small Systems Computing Pvt. Ltd.



